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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-II
Examination of the Four/Five-Year Degree Course, 2019-2020

SEMESTER-I
AGRICULTURE INFORMATICS
(AGRINFO-211)

Time : 2 Hours

Section-1I : 10

Maximum Marks : 70
Section—11: 60

Attempt all questions.
Answer of Question No. 1 and 2 be written in the space provided alongwith the questions
in Question-booklet. Answers of Question Nos. 3, 4, 5, 6 and 7 be written in
the Answer-book provided for writing answers.
In case of any discrepancy in English and Hindi versions of the paper,
only the English version be taken as correct.
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SECTION -1
gug - |
Time : 20 Minutes] [Maximum Marks : 10

The Objective part (Q. Nos. 1 and 2) is to be covered in the Question paper itself and would be
collected by the invigilator after 20 minutes of the commencement of the examination.
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1. Choose the correct answer and write the number of correct answer 1 or 2 or 3 or 4 in the square
given against each sub-question. (10x0.5=5)

e S T TC IEET &A1 A 2 A 3 A 4 TS I9-F ® w3 ™ i | fafew

(i) The file extension for MS-Excel 2010 file is : |
(1) .docx
(2) .xlsx

(3) .pptx
(4) .pdf.

fre ¥ ¥ FH- TLUG.-TRE B G RN §?
(1) .docx
(2) .xIsx
(3) .pptx
(4) .pdf.
(i) Computer BIOS is stored in :
(1) ROM
(2) RAM
(3) Hard disk
(4) Floppy Drive.
FoZet BIOS F& W TUEW et 87
(1) W
2 W
3) e &=
@) Y grEE
(iii) Random Access Memory is an example of : (:l
(1) Non-Volatile Memory
(2) Permanent Memory
(3) Volatile Memory
(4) Impact Memory.
tren walw AHh o frge SaEw @7
(1) H-sieeEa qurd
(2) TR HEG
(3) dreRREe AER
(4) wNE FEA
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(iv) Process Management is the function of : D
(1) HTML
(2) Database Management System
(3) Processor
(4) Operating System.
wiFa wav feae wd 272
(1) TEATETA T
(2) TEE FENA YOI F
(3) WS
4) sifqfen faem

(V) G nitinss is a program that converts instructions into a machine-code or
lower-levels form so that they can be read amd executed by a computer. :]
(1) Interpreter
(2) Binary Code
(3) Compiler
(4) Operating System.

.................................... w Wum ¢ W vl # wie-we @ fee-wR % w9 d
tfafia #w ¢ afF 3% 9 @R @ iR Feafa fFn s

(1) FX

2) TEH HE

(3) FUEEH

(4) sifqifen fawm

(vi) A Collection of Programs is called :
(1) Hardware
(2) Software
(3) Data
(4) Information.
e & B e ¥
(1) wTEER
(2) WEEAR
(3) s
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(vii) This android application provides information about the latest agriculture advice, latest

mandi prices, and various farming tips : :’
(1) AgriApp

(2) IffcoApp

(3) Agri Media Video App

(4) Kisan Yojna.

T U3leE ey Teian Y gome Toan G # wimdl ok gd # fafe g
F AR A THER TEH F R

(I) AgriApp

(2) IffcoApp

(3) Agri Media Video App

(4) Kisan Yojna.

(viii) Who is the father of C Language? :
(1) Bjarne Stroustrup
(2) James A. Gosling
(3) Dr. EFE Codd
(4) Dennis Ritchie.
C 9T &1 5% B 87
(1) T BN
(2) I U Tl
3) o i FE
@) =fm f=h

(ix) Which of the following is a collection of related data? I:
(1) Information
(2) Metadata
(3) Database
(4) Relation.
frefafan & ¥ fR-w gatm 22 =1 T 2
(1) HaT
(2) WERR
(3) <Ey
4) w=EY|
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(x)  Which of the following is a highest speed memory between main memory and CPU

called? :

(1) Register Memory

(2) Virtual Memory

(3) Random Access Memory
(4) Cache Memory.

frfafea 4 4 FH-9 g&7 990 ok @iy, T T IeEaw T SEd €2
(1) W= ==

(2) FwaE wEA

(3) ¥ T 9

(4 Fw TEE

2. Fill in the blanks : (10x0.5=5)
faa =l =t gfd Fifsg .

| JRRETR R A S Package is used for creating spreadheets.
eyl C I I 1 Y39 71 wam fFw s 2
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() 571 G B i MB.
TN s s iicnist s ssamemsmnsiinsiass it ok Al
EV) . RTINS SO EIBD . oosivooniissivisomioninsssssreispiioonissssiestbmis tag to get Bold text.
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(V) A0 G RS aon: L, is a connnection of two or more computers.
R i SRR S, Ll A T AfF TR T F FARA 2

(V) DRSS i A GRS O ..ot i et id interface.
VLI P i G THE T TE [ R

D) oot s ismssssirsssessssotili is a start page or main web page of a website or a
browser.
...................................................... TF 499R 91 UF TSR 1 UF URY U= q g
9 99 #

U8) - WO I TOF oI . ottt aincssos ot sssrsssinsavessnerioaiii s st
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(x) The PowerPoint presentation iS @ COHECHON Of ..........cciicncecsssasasassessassassossasassessnsasssss
that contain information on a topic.
L e AN 1 % une ¢ fornd fedt e
R TEER TR R
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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-1I
Examination of the Four/Five-Year Degree Course, 2019-2020

SEMESTER-I
AGRICULTURE INFORMATICS
(AGRINFO-211)

SECTION - 1I
gus - 11

M Time : 1 Hour 40 Minutes] [Maximum Marks : 60

I The Subjective part (Q. Nos. 3, 4, 5, 6 and 7) is to be covered in the Answer-book provided for
| writing answers. The Answer-book would be collected by the invigilator when the candidate
| finishes as per rules.

|| The question paper containing the Subjective part can be taken by the candidates alongwith them.
|

| RryareTE S (W9 GO 3, 4, 5, 6 T 7) B IW @ T IW-TRaw | e # sw-gfa
el g0 WA-T9 IO F@ F AR THaEE gR FEEEER @ &t s

immmm-wvﬂmﬁmmémm%n

3. Define the following : (5%x1=5)
fr=fafaa =t fafim Fifsg .

(i) Database Management System (DBMS).
WEY FEYT Wore

(i) HTML.
T3 AT

(iii) Super Computer.
R Hrgetl
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(iv) Decision Support System and its role in agriculture.

%mmw%ﬁmqﬁmwﬁ?

(v) ROM and its usage,
ROM &R 8@ 3qam

4. Differentiate the following : (2x%3.5=7)

ﬁwf%ﬂ‘mﬁmﬁfm:

(i) Impact and non-impact Printers,

maﬁzﬁ-mﬁaﬁwmn

(i) Digital and Analogue Computers,

%ﬁmaﬁtwﬁmmﬁmml

5. Write short notes/comment/justify the following : (2x6=12)

Freffefen 1 wdw % feoofaviy=men i -

(i)  Generations of Computers.

FIR F e

(i) Role of Expert System in Agriculture.

wﬁmmﬁﬁaﬁ%l

6. Explain any mwo of the following three questions in 1-1% pages. (2x8=16)
fFrfafes 7 vt & 9 fref @ 3 3w 1-1% S & it

(i) What are Data Types in Programming Languages? Explain with the help of examples.
mwﬁﬁmmwf?ma&mﬁml
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(ii) What are the various computer controlled devices for agri-input management? Explain
their functions.

FH-T vEvT ® fag e se fafe St #R-8 8 3 @l S e
x4

(iti) Define an Operating System. What are the functions of an Operating System?
sqfen foen w1 R Ff Al frem & =01 9 2

7. Explain/describe in detail any two out of the following three questions in 2-3 pages. (2x10=20)
frafafen 97 vl 9 & fFl @ @ W 2.3 ¥ F

(i) What is Memory? Compare different memory devices.
T F= ¥ fafi= AOd feamdl 9 g Fifww

(i) What are the various Arithmetic and Relational Operators available in Programming
language like C? Illustrate with the help of Examples.

C vrmftin s # Syere fafu= siEnidE ok Savws e I #2 e 31 W
¥ gHEEY)

(iii) What are the innovative ways to use Information and Communication Technology (ICT)
in Agriculture?
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